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CGPSC State Engineering Services Exam 25th April Shift 1

Notations :

1.Options shown in green color and with % icon are correct.

7.Options shown in red color and with # icon are incorrect.

Question Paper Name: SES GS Set 1 Actual
Subject Name: SES GS Set 1
Duration: 150
Number of Questions: 150
Revisit allowed for view? : No
Revisit allowed for edit? : No
General Studies
Number of Questions: 50

Question Number : 1
Correct: 2 Wrong : 1

Which of the following Indian States will go to the Assembly polls in Year 20167
Options :

A # Uttar Pradesh, Manipur , Purab

B. % Jammu and Kashmir, Bihar | Tharkhand

C. ¥ Assam, Kerala, Tamil Nadu and Puducherry

D. ® Uttar Pradesh Kerala , Tamil nadu

E. # Jammu and Kashmir, Bihar, Punjab.

Question Number : 1
Correct : 2 Wrong : 1

TH | I H AR 3 Tt 8 ad 2016 H fererm=er g 51

Options :

A ® JEUTY, AT, TS

B. % 9wy afiv FfiY, RN, IREs
D % FouEr e, THES

E. % S afiv ey, TEm, v,

Question Number : 2
Correct : 2 Wrong : 1 www.upscstudymaterials.com


http://www.a-pdf.com/?wm-demo
http://www.a-pdf.com/?wm-demo

Which Actress has won the 62nd Mational Film Awward in Year 2815 7
Onptions www.upscstudymaterials.com
p :

A ® Konlana Sen
B. # Priyanlea Chopra
C. * Alia Bhat

D. ¥ Kangana Fawat

E. * Anoushka Sharma

Question Number : 2
Correct: 2 Wrong : 1

T 2015 # e srfeeEt = 628 TR Ohel Qe St

Options :

A % FHigoTET

B. ® TeT et
c * anferareg

D. ¥ @ T
E % srgeer amf

Question Number : 3
Correct : 2 Wrong : 1

Among the following, Who has been awarded the Padma Vibhushan in 2015 for contribution to Trade and Industry 7
Options :

A *® Bill and Melinda Gates

B. ¥ Shri Karim Al Hussaini Aga Fhan

C. ® Ms Bimla Poddar

D. ¥ Nr. Manjul Bharghava

E * Prof Malur Rama SWALTTY oriivasan

Question Number : 3
Correct: 2 Wrong : 1

TATIT 3T T # ST Aee &= & oy, ad 2015 o g oe7 ey srmre e ma am
Options :

A ® TE oY BiEET Ted

B. ¥ off O ar g A A

C. ¥ gt faew O R

D. % =t vt wnia

E % UThER Ao TrHTEaTHT Sfifemee

Question Number : 4
Correct: 2 Wrong : 1

The first mechanical computer designed by Charles Babbage was called:
Options :

A % Abacus

B. * Processor

C. ® Calculator

D. ¥ Analytical Engine

E * None of these www.upscstudymaterials.com



Question Number : 4 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1

AT e clelel GTT 1L FeRT T Ul 1T FOeT el el 7T
Options :

N ﬁ:lﬂmliqm|

B. #® waree (Hee)

c ® qﬁﬂﬁa’(ﬂm_{]

D. ¥ &gt so

E ¥ s d g g

Question Number : 5
Correct : 2 Wrong : 1

Which city in France will serve as a model for our "Smart Cities'?
Options :

A % Pars

B. ® Marseille

C. ¥ Toulouse

D. * Nice

E ® Lyon

Question Number : 5
Correct: 2 Wrong : 1

TRTE T W1 &7 SIET 'EATE €A1 SER T & Toll 0eF HiSel o &0 H @79 @1
AT

Options :

A % B

B. ® mgen

¢ ¥ T3

D *®

E # wre

Question Number : 6
Correct : 2 Wrong : 1

Who is the first Vice Chairman of the NITI Aayog 7
Options :

A #® Sindhushree Khullar

B. % Faghu Fajaraman

c. ¥ Arvind Panagariya

D. * Prashant Bhushan

E. * Narendra Madi.

Question Number : 6
Correct: 2 Wrong : 1

1T 3T o Ugel SUTETE DI &7

Options :

A % et geer

B ® T TATCATT www.upscstudymaterials.com



¢ ¢ apfaT uAmiEET
D. # e sqmor
E ® ST AeEr

www.upscstudymaterials.com

Question Number : 7
Correct : 2 Wrong : 1

Who is the present Chairperson of the Indian Premier League?
Options :

A % Lalit Modi

B. ¥ Rajeev Shulda

c ® Marayanswany arinivasan

D. *® Gundappa Vishwanathan

E ® Jagmohan Dalimiya

Question Number : 7
Correct: 2 Wrong : 1

AT 127 WA ST &7 e AT 3TeTey i 87
Options :

A % FfeT AmEr

B. ¥ Tt T

C. ¥ ARTETETHT AT

D. % tzror fERemmr

E. ® SHigT STewEar

Question Number : 8
Correct : 2 Wrong : 1

Who is the First Indian to became no. 1 in world Badiminton ranlging”?
Options :

A ¥ Pralash Padultone

B. ¥ PV Sindhu

c *® P.Gopichand

D. % Saina Nehwal

E # Jwala Gutta

Question Number : 8
Correct: 2 Wrong : 1

TRTH {27 AT TePel dsTHe (T # He) 1 &7 w21 Ui fema 87
Options :

A TS T T

B. % ot ot Ry

¢ ® o Mg

D. * qrET Jgane

E. % sorerm et

Question Number : 9
Correct: 2 Wrong : 1

India's first supercomputer is named: )
www.upscstudymaterials.com
Options :



A % poni
B. ¥ Param

C. ® Trishul

www.upscstudymaterials.com

D *® Aryabhata
E. * MNone of these

Question Number : 9
Correct : 2 Wrong : 1

URT & Tgel GOX Peged BT A &

Options :
A% iy
B. ¥ mw
C. ® Tsm
D #® g

&
E % g0 & 91E 78T

Question Number : 10

Correct: 2 Wrong : 1

Which are the most conmumonly found rare earth minerals found along the Eastern Coastal areas of Odisha?
Options :

A ® NMagnetite

B. ® Monazite

C. ¥ Imenites

D. # Homblende

E. ¥ Sillimanite

Question Number : 10
Correct: 2 Wrong : 1

TS & Gelf e i g1 H Herdl FATET U AT alTel el & oie Fi= ugref @ & 27

Options :

A % A

B. ® mienes

C. * goieEcE
D. ¥ gideniz

E ¢ T

Question Number : 11
Correct: 2 Wrong : 1

Which Petrolewn oil field is located in the Gulf of Khambhat 7
Options :

AV Lune

B. * Digboi

c * Badarpur

D. * Numbai High

E * lakoa

Question Number : 11 www.upscstudymaterials.com



Correct: 2 Wrong: 1 _
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Options :

A Y T

B. ¥ Zmarg
C. % g

D. ® gafer

E. # weptarm

Question Number : 12
Correct : 2 Wrong : 1

What 15 identified as the most inportant activity to be stopped, which would help clean the Ganga Fiver?
Options :

A B Bathing and rituals practiced

B ¢ Dumping of untreated sewage

C. ¥ Deforestation in the water shed area

D ® Building facilities for tourism

E. ® MNone of these

Question Number : 12
Correct: 2 Wrong : 1

Terer TR TeITer &t Eae Agcaol OTT AT &, S dg @ T ST/ T Aal @ 6 @i B 0 [Hot?
Options :

A % TETAT 3T eniAE TEET & e
B. ¥ srsnfee g &7 s

C. ® FomEw &7 o=t & wer

D. % wfe & ToIg gieremg s,

E % s @@ 78t

Question Number : 13
Correct : 2 Wrong : 1

What is the main focus of the MNansen Initiative” started by Norway and Switzerland and supported by Bangladesh, which is of
advantage to [ndia?

Options :

A ® Toreduce greenhouse gases emissions, by getting dev eloped countries to conundt how much they will spend
B. ¥ Plan for technolo gical mnovations to reduce the impact of pollutants by mdustry and automobiles

C. ® Share research findings on climate change and new technologies between developed and developing nations
D. ¥ Climate change, disasters, and hwman mobility in South Asia and the Indian Ocean region

E # Approve geo - engineering strategies to mitigate climate change, disasters and nunan mobility.

Question Number : 13
Correct: 2 Wrong : 1

HTdl 3T gt &Ny g€ oy T oflT aaTe e gy GH i “HATE- Tge, St 65 9T & foig Tgaei &, o1 G& @8 T o7
Options :

A B Terep e STt T Ui elg, XenTd g 1o of Toha1T &l dr, T 5129 6! @7 Ioesi @F He]

B. % JTT ST g1 T UGHUT & T T HH H o Fol] Hrei e 1 Famerm &1 JeT =1

C. ® TSenTe v TEamastiar St o oier 9E Wit s Seres aiad | Ut SIgae & o @rg s
D T T S fr AT A T e P A eSO e




s P——— AT 37 Y = T = .3 = i AGEG
E * Soferg uited , aagrar ol are i sfier Iv&'wﬁwfl.'—qu-n—r{cs'cs ua&ﬁgtgia"]ﬁamﬁs.com T O TT T Ee e e

Question Number : 14
Correct : 2 Wrong : 1

Which of these Waterways 15 The MNational Waterway- 37
Options :

A B Brahmaputra water way - Miamvati to Sadia

B. ® East Coast Canal - Talcher to Dhamra

C. ¥ West Coast Canal - Eottapuram to Alapuzha

D ® Ganga Water way - Haldia to Allahabad

E. * Godavari Krishna waterway -Ealdnada - Puduchen

Question Number : 14
Correct: 2 Wrong : 1

T AAATT H F DI 5 TP 1 AAATT 37
Options :

A % gEF Tt - et & |
B. ® T qE1 AT - ToRE O U

C. ¥ OTeenT T2 Y - FIGTEH o SR
D. ® T SAAATT - gieaal § SAEaTS

E. % TSI e AT - WIpIST ~Tgei

Question Number : 15
Correct : 2 Wrong : 1

Which i the eco - region i whith/theTalwh Flatens, Chhattisimull PlarsancEistern Plaidae) (Egsified by the Indian Agriculture
Eesearch Institute?.

Options :

A % Semi-Arid

B. * Humid

C. % Arid

D. ¥ Sub Humid

E #* Montane.

Question Number : 15
Correct: 2 Wrong : 1

I TIaR0T- &3 H, IefelT TS, Sies o U, el Har , 910 127 §i e ST GrT aiigd o Td 27
Options :

A ¥ anf e

B. % ag/am

C. *® g

D. ¥ arfam

E % ddi

Question Number : 16
Correct: 2 Wrong : 1

Which one of these sea creatures changes its colow?
Options :
AV Cctopus www.upscstudymaterials.com



Sea Horse

Jelly Fish

www.upscstudymaterials.com

L

D. * Sea Anemone

E. * Star Fish.

Question Number : 16
Correct: 2 Wrong : 1

T ST S | I ST T aaeal a7

Options :

AV T

B. ¥ e wigT
C. * St T

D. #* gt @i
E * % Awd

Question Number : 17
Correct : 2 Wrong : 1

What 15 the law it which under the same conditions of temperature and pressure, equal volumes of all gas contain equal mumber of
molecules?

Options :

A % Snell's law

B. % Colioli effect

C. * Graham's law
D. * Pascal's law

E ¢ Avogadro's Law

Question Number : 17
Correct: 2 Wrong : 1

o o o TEd, SA GHT ST SaTe ol O e at o, /it T S O St BT § SI7ert o 6w 6 Uw St gl a7
Options :

A ® g T Fem

B. ® wiferaiiel mme

C. ® umEn @ |

D. ® Udd o 4aA

E. ¥ a@ima! ot fHam

Question Number : 18
Correct: 2 Wrong : 1

What 15 the special nature of 'Collagen’ in the hnuman body?
Options :

A B Helps blood to clot

B. ¥ Most abundant protein.

C. ® Moves the calcium in the blood stream

D * Helps cells divide and multiply

E % Helps hair get its colour

Question Number : 18

www.upscstudymaterials.com
Correct : 2 Wrong : 1



AT SO H Wl @7 8y T Te &7 57
Options :

A R o e B oF 6T HES

B. ¥ HeE VR W H 0

C. * v §T 4T H HeaaT B ETET T8
D. % eifdenralt o ERaTs o T H Agg AT
E ® gt &7 91 07 0 H 0ag FeAT 8

www.upscstudymaterials.com

Question Number : 19

Correct: 2 Wrong : 1

Among the following which one is a North flowing river?
Options :

I

A B Ganga

B *® Bralunaputra
C. ¥ Narmada
D. * Kaveri

E. ¥ Chambal

Question Number : 19
Correct : 2 Wrong : 1

TRTeIET O & 1= | A5l 30 @l A agdi g
Options :

A %o

B ® aga

c. % Jar

D *

E ¥ Tae

Question Number : 20
Correct: 2 Wrong : 1

Which one of the following when burnt in the air does not produce Carbon Dioxide?
Options :

A ® Biomass.
B. # Ethanol
C. % Water

D v Hydrogen

E * sulphur

Question Number : 20
Correct: 2 Wrong : 1

TAH © FIT A gaT H AATIT 9T £ 91 Fle- SEATTHES Al TaT Fedr
Options :

A % GrETHEE.

B. ® gt

c. ® o

D. ¥ g

E * ey www.upscstudymaterials.com




Question Number : 21 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1

Which elements do all organic molecules contain?
Options :

A Y Hydrogen and Carbon

B *® Hydrogen , Ozygen

C. % Carbonand Czxygen

D * Hydrogen and Ozygen

E # COnly Oxygen

Question Number : 21
Correct : 2 Wrong : 1

T T Fed T DT (0pait # 5197 27

Options :

4 ¥ FEENT T @EA

B. ® grESied, sfagrET

C. ® el i st
D. ¥ FESiE 3T sifaei=r
E % Tot sffeei=

Question Number : 22
Correct: 2 Wrong : 1

Where will the conunon wealth games 2018 will be held?
Options :

A ¥ Australia

B. ¥ Jamaica

C. # New zealand

D. * Malaysia

E. ® None of these

Question Number : 22

Correct : 2 Wrong : 1

TIA-CF TR 2018 TET AT TRt gy
Options :

A ¥ e

B. % e

R

D ® meifaar
E % g0 9 &g T8

Question Number : 23

Correct: 2 Wrong : 1

What is the hypothetical unit measuring satisfaction of a good or commodity referred to in Economics?
Options :

I

A ® Central Tendency

B. ®* Measure
¢ ¥ Utils www.upscstudymaterials.com



D. % Cost
E. * None of these

www.upscstudymaterials.com

Question Number : 23

Correct: 2 Wrong: 1

arefarrer T TRt WA AT e o HqIe-€a¢ i A0 &1 HToul-w SaTs T gl 57
Options :

A ¥ FERTTER

B. % mm

c. ¥ Fieew

D. % ®e

E ¥® zaR g @ 78

Question Number : 24

Correct : 2 Wrong : 1

What change in the granting of banlt loans to farmers has been suggested given that in India 45% of small and marginal farmers
have access to institutional finance?

Options :

A ® Interest free loans by banls to small and marginal fanmers for fraditional fanming methods.

B. ¥ Banlks give long term loans with mterest subsidized by Govermment for new ventures m agriculhure
C. ® Farmers are given loan facilities lilke ware houses and fanm equipment

D. * Panks give farmers who can prove their credit worthiness Short ternm loans

E % Banks are being graded as efficient based on the recovery of loans given to small and marginal fanmers

Question Number : 24
Correct: 2 Wrong : 1

?ﬁaﬁﬁméﬂﬁwuﬁaﬁwﬂq%‘, TH HE AW o W | T8 45% T1¢ 310 diATa e & semd o & uga

Options :
A % gEdTeer ST 3 T O O BiE ST ST e s q

B. ¥ ot # AU IuwhAT 3 507 S, T ST Ue I 0 =200 UF wva] STte 3 0 3 8
¢ ® Tt Rt PR ST & T R T T g & o E

D. ® w5 37 et @7 glaT Srater & o0y F0T Sd & ST SIUT 0T AT Siie P e,
E % gic offv e et ot T 0 S T SRge & STe ue st o e T S g

Question Number : 25

Correct: 2 Wrong : 1

Which Indian public figure started a university to blend Indian and Evropean thought and art and culture 7
Options :

A ¥ Rabindranath Tagore

B. ¥ Subramaniam Pharti

C. * Ishwar Chander Vidyasagar
D. ¥ Madan Mohan Malviya
E. # MNone of these

Question Number : 25

Correct : 2 Wrong : 1

www.upscstudymaterials.com



ey TR T el Gl = 127 3% ity ﬁﬁwﬂwﬁs@-&gﬁ%&glagﬁo%

Options :

A ey B

B. % gemfd wRdt

C. ® Zoow =g e
D. ¥ HaT HigT AT

E. % gd & 9Tg 78T

Question Number : 26

Correct: 2 Wrong: 1

Which sector has declined from19 % in 2004-2005 to 14% percent share in the Gross Domestic Product in 20157
Options :

I

A * Finance, Banlang, Feal Estate.

B * MWanufacturing and Allied sectors
C. ¥ Services

D *® Electricity and Gas supply

E ¥ Agriculture and allied sectors

Question Number : 26

Correct : 2 Wrong : 1

2015 o Hehel ©de] JoUTg H Tepe 41 T TEEaamT, 2004-2005 & 10% & 14% = 757
Options :

A % T, AT, TTEY ST/ STAA AT A

B. % TEfmiT it dag &

C. ® o

D % TEsmwt afv fier e

E ¥ gt oft dag &4

Question Number : 27

Correct: 2 Wrong : 1

What is the term used in India to describe the reserve that commercial banles have to maintain in the form of gold, cash or
govertument honds 7

Options :

A ® Cash reserve ratio

B. # Interest rate

c statutory Louidity ratio
D ® F.epo Rate,

E. * Reverse F.epo rate

Question Number : 27

Correct: 2 Wrong : 1

AT cfepl T HIAT, Tl AT AR a1 o w0 H TSt TTer /e @ a0 TE=1 U247 & 39 &7 Fgd a7
Options :

A % e Teel TeaT /ARG el ATE g

B. ® o axl

e @ﬁﬁaﬁ}m | ETTE TR aeeaT _Ww.upscstudymaterials.com
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Question Number : 28
Correct: 2 Wrong: 1

"Prosperity cannot be achieved through wnlinuted expansion of credit.” Which of the following events proved this without doubt?
Options :

A ® Collapse of Grant and Ward Company

B. ¥ Charter to East India Compatry

C. # Coal Block Allotment

D. ¥ South Sea Bubble

E. # Enron Bubhle

Question Number : 28

Correct : 2 Wrong : 1
g, IS o SETHA [ed X @ ATEAH o T4 gl @l =T wed | g1" T # o e =eaT o I Wadg difad @ e~

Options :

A % e B EE / UE U @8 St o gae
B, ® o7 zfUEaT st T T

C. ® T el 3TeeA

D. ¥ ZIET &R geget (bubhle)

E. ® 009 goiget (bubhle)

Question Number : 29

Correct: 2 Wrong : 1

Which Index for the United MNations was developed by the Indian economist Amartya Sen and Paldstani economist Mahbub ul Hag 7
Options :

A * Genuine Progress Indicator

B. ¥ Human Development Index

C. ® Gross Domestic Product

D. # Index of Human Economic welfare

E. ¥ Sustainable development Index

Question Number : 29

Correct : 2 Wrong : 1

T TTE o Tl i |7 TenTeh a1 Sffame’ el € 3T UTiepea 1 S aTelt Agdd 3¢ 5 &IXT Tl ierd TehaiT T 17
Options :

A % FrEqieE wTE G / ST T shadet

B. ¥ "I @ gEeT® / gEA SouRe sead

C. ® gl me oIS

D. ® BT STy o a7 g

E ® @i e o geew

Question Number : 30

Correct: 2 Wrong : 1

Which State in India in 2013-2014 had the highest contributor to Gross State Domestic Product at Constant 2004-05 Prices (in Fs.
Crore)?

Options : www.upscstudymaterials.com



A % Uttar Pradesh.
B. # Karnatale

C. ¥ Tamilnadu
D. ¥ Maharashtra
E * Kerala

www.upscstudymaterials.com

Question Number : 30
Correct : 2 Wrong : 1

URAT | 2013-2014 H FrT T2 &7 2004-05 &1 HATT (T IS H) T, Thel Oie] o013 4 AR Sgad T 41

Options :

A % FETET
B. ® wfew
C. ® FimaE
D. ¥ WEwg
E ® 3

Question Number : 31

Correct: 2 Wrong : 1

Under which Fight in our Constitution is ‘Child Labour prohibited?
Options :

AV Fight agamnst Exploitation

B *® Fight to Ecuality

c * Right against untouchability

D *® Fight to Constitutional Remediss,

E % Fight against discrimination

Question Number : 31
Correct: 2 Wrong : 1

Options :

A s 3 ey i

B. ¥ THMGT @ TEwR

C. ® 3EQyTET o oeg Sfew
D. ¥ gauriee Femo @7 sifEm
E #® figwea & fEem sy

Question Number : 32

Correct: 2 Wrong : 1

How does the rigid nature of the Indian constitution support the Federal structure?

Options :

A ® State and centre can enact laws within their spheres of control independently.

B. ¥ All the functions of the State and Centre are clearly defined in the Constitution schedules.
C. ¥ Amendments to the Centre State relations have to get State and Centre approval

D. * Constitution stands above the Centre and State in all matters of the coutry.

E. * State and District and Local governument have a hierarchical relationship .

Question Number : 32 www.upscstudymaterials.com



Correct : 2 Wrong : 1
am‘cﬁzTFiﬁ%rFrT:ﬁ%ﬁ?ﬂ@ﬁ‘ﬁﬁmmﬁmﬂﬁ@?’%‘?mdymmenms'com
Options :

A % T oY g TAT E E S0 T 3 &t T ST H S 9 e g

B. ¥ Trea 3T g & A @ |l & gt # w0 @ uieanii &

C. % g T weret # TR 3 o0 T 37 S \art §T Fefel UTH et g
D % o ¥ o2 ot At # Gl g ot te g € ot gata &

E # rer 3T FSe 3T T O o 3mue # U Siterg / grneae et B

Question Number : 33

Correct : 2 Wrong : 1
Who izsues Ordinances?
Options :

A B Supreme Court
B. # Prime Minister

C. ¥ President

D. ® Chief Minister
E. # Parliament

Question Number : 33

Correct: 2 Wrong : 1
STERITEST T 1T AT T 27
Options :

A ® gl e

B ® merm wT

c. ¥ e

D. ® gyt

E * gag

Question Number : 34
Correct : 2 Wrong : 1

Where can a citizen go directly if their fundamental rights are harmned?
Options :

A B IMyaya Panchayat

B *® High Court

C. ® District Court

D. ¥ supreme Court

E. * Prime Minister,

Question Number : 34

Correct: 2 Wrong : 1
iy Tt ATTTieen < Hifeer ST 1 g g3 a1 o |iel Tenefch orey =7 Eepa T g7
Options :

A ® SR UETE
B. ® 3 ~OmmwE
C. ¥ THET ST
D. ¥ qaig ~arme

www.upscstudymaterials.com
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Question Number : 35

Correct : 2 Wrong : 1

What causes the Aurora Australis?

Options :

A B Spimning of the earth at about 28 lans per howr

B. ¥ Tilt of the earth towards the sun during the southern hemisphers winter
C. ¥ Increase in the carbon dioxide levels in the Polar regions

D. ¥ Interaction of density of the solar wind and the Farth's magnetic field
E. * None of these

Question Number : 35

Correct: 2 Wrong : 1

STT ATEZTIord @7 HTee F4T 87

Options :

A % 28 TepelieT WiE T T TR & YT T ST HT O gHAT
B. ® ZTEuft mieng STat & ST Gt o7 G & 37 g

C. % e vea § wh- ST TNl O g% T

D. ¥ HIY Ut & Oee 3Y G o [ & & S

E % s & o e

Question Number : 36
Correct : 2 Wrong : 1

What 15 a law called while it 15 bedhEuhade /it Demslanige?
Options :

A B Policy

B. ¥ Bill

C. ¥ White Paper

D. * Blue Print
E. ® Resolution

Question Number : 36

Correct: 2 Wrong : 1
T WA T FAT g 5 o1el og [ereTw] § o (T EaT a7

Options :

A % AT

B. ¥ e

C ¥ s

D. % mrey

E * T/ wedm

Question Number : 37
Correct : 2 Wrong : 1

In which Himlayan region are the pealks of Chauldhamba , Hardeol and Trishwl peales located 7
Options :
A #® Karakoram Fange

B % adakh Himalaya www.upscstudymaterials.com



C. ¥ Kumaon & Garlwal Himalaya
D. * Kashmir Himalaya

E * Zanslar

www.upscstudymaterials.com

Question Number : 37
Correct : 2 Wrong : 1

T, Fa e A TS veld (=2 i AT @ o & o 76 27
Options :

A ® TR ST

B. # e BAwT

C. ¥ FHIE & TEaTH BHE
D % werit AT

E * Sy

Question Number : 38

Correct: 2 Wrong : 1

Which three passes are open for trade with China 7
Options :

A % Sela, Jalep La and Changla

B. ¥ Nathula Changla and Jalep La

C. * Sela, Changla and Debza

D. ¥ Nathula, shipldla and Lipulelds

E % Jalep La, Shipldla and Changla

Question Number : 38
Correct : 2 Wrong : 1

T & T AT/ O = A s & o g 7
Options :

A % FaT, Fow #T, R ST

B. % STAT, TTAT AT e AT

C. * Fel, =T ot Jeam

D. ¥ e, T ot e

E % S ar, T siv =mem

Question Number : 39

Correct: 2 Wrong : 1

Which four States pooled in resources to build the Konlean Fail Foute?
Options :

A ® Maharastra, Kerala, Gurat and Goa

B. ® Kerala, Goa, Gujrat and Karnatala

C. ¥ Maharahtra , Kamatalea, Goa and Daman and Diu.

D. ¥ Kerala, Karnatalea, Goa and Maharashtra

E. ¥ Kamatala, Maharashtra , Tamilnadu, Goa

Question Number : 39

Correct: 2 Wrong : 1
T HT S TG P & TR At ﬂwﬁlva.iupscstud??-lngtgr?ials.com

Options :



A % TR, WA, TR ST e .
www.upscstudymaterials.com

B. % e, TR, eI 3T i

C. ¥ HETTE, e, TS ST gre &g
D. ¥ e, Fied, TS 3T HENTE

E. ¥ @ieed, HERTE, TTHemTg ofiT e

Question Number : 40

Correct : 2 Wrong : 1

Which of the plateaus of today is known as Gondwana?
Options :

A % Tibet Plateau

B. ¥ Peninsular platean of India

C. ® Deccan Plateau

D. ¥ Arabian Plateau.

E. % None of these

Question Number : 40
Correct: 2 Wrong : 1

PIA-AT TSTC 3T ST & ATH & FT AT 57
Options :

A ® Tead SIS

B. ¥ 9T BT WIS T 03 TC

o ® Sl TS

D. % apdimer

E * gan & o7s 75t

Question Number : 41
Correct: 2 Wrong : 1

What is the special feature of the western coastal plain of India?
Options :

A ¥ Wide continental shelf, mudflats and coral reefs

B. # Deltas, narrow continental shelf, mangroves

C. ® Baclowaters, Narrow continental shelf and coral reefs

D. * Shallow continental shelf, mud flats, and coral reefs

E #* Deltas, deep continental shelf and baclowaters.

Question Number : 41
Correct: 2 Wrong : 1

IR & Ut T 1= HaT & ETe Temar 727 87
Options :
A ¥ 2 IETEITRT S5, AETRCH ST U TRt

B. ® Zwer, Al wETS I deth, Hite

C. ® SmEmEr ot/ AaTer, ST AETE T Soth ST o Ft
D. * Juel AFTE Seth, WEThied 31 UaTe T

E % Zwer, Met ARG Soth 37T SIaTe! o=t / Saemey.

Question Number : 42 www.upscstudymaterials.com



Correct: 2 Wrong: 1

Which crop has increased in demand in India as it has Na? Cottohu ectjlytm ?f%rﬁlfn%%n?:f shale gas i the USA T
Options :
A % Jute

B. ¥ Guar Phalli
c ® Jatropha
D * Comn

E # Soyabean

Question Number : 42
Correct : 2 Wrong : 1

T ®, e wae &1 AT § gig 55 & T g6 9 U st § §6 79 o7 @e T ¥ Aimg T e
g

B. ¥ T Genll

C. ¥ ST

D. % mog

E ® grmeEe

Question Number : 43
Correct: 2 Wrong : 1

What 15 the conunonly lmown name for the 21 islands between Rameshwaram and Tuticonn which is the worlds finest Marine
Biosphere reserve.

Options :

A * Havelock island
B. # Palk Strait

C. #* Indira Point

D. ¥ Gulf of Mannar
E. * Gulf of Katchch

Question Number : 43
Correct : 2 Wrong : 1

THPETER 31T ZETRITGT o el 21 &1 o Sl AT/ & S 19 &, ST 27 g2 @7 apat = aHe aieh = e ol
Options :

A R BT aMEeE

B. ¥ UTF Ao=AEHET / UTF T

C. ® ghmrmme

D. ¥ wgr & g@et

E * oep dT@s!

Question Number : 44
Correct : 2 Wrong : 1

In which State is the Sanchi Stupa located?
Options :
% Bihar
B. # Uttar Pradesh
C. * Iharkhand

www.upscstudymaterials.com
D. # Odisha P Y



E ¥ & dhya Pradesh .
www.upscstudymaterials.com

Question Number : 44
Correct : 2 Wrong : 1

Tore T | W Ty e 87
Options :

A % TEr

B. ® FRUA

C * owaEs

D. ¥ anfZam

E ¥ maudy

Question Number : 45

Correct: 2 Wrong : 1

Which ruler founded the capital at Patliputra?
Options :

A % Ashola

B. ¥ Ajatashatiu

C. # Chandra gupta

D. * Chandra gupta Vilcramaditya

E % Eautilya

Question Number : 45

Correct : 2 Wrong : 1

TR AITEER Ty | T S ey @i
Options :

A ® i

B. ¥ amTerg

C. % =gmm

D. ® ggim e

E_. W t:l: ;;“'__np’i'

Question Number : 46
Correct: 2 Wrong : 1

Which Ruler made a replica of the Taj Mahal in South India?
Options :

& ® Shah Jehan

B ¥ Aurangzeb

c ® Jahangir

D. * Farrukh mivar

E. * Jalandar Shah

Question Number : 46

Correct : 2 Wrong : 1

TTAT YR H e S = 91 AE ol @ Nidad a-eTa 9n?
Options :

A % grEeEt

s - www.upscstudymaterials.com
B ¢ e p y



c. ® FEhfc
D. % Ej\.@ii“{
E ® SRS aF

www.upscstudymaterials.com

Question Number : 47

Correct : 2 Wrong : 1

Which Indian - Paldstani author 15 famous for booles like Toba Tele Singh, Thanda Ghost?
Options :

A ® Faiz Ahmed Faiz

B. ¥ Saadat Hasan Manto

C. ® Raza Rumi

D. * JasFiza

E. * None of these

Question Number : 47

Correct: 2 Wrong : 1

I & AT (-UTRed 41 i q el dep THg, ST e St fereard qeat & Wy Hage g7
Options :

A % O aEAg B

B. ¥ Oad gaa 0e

C. * T Edr

D. ® S fihm

E * san & o1 78

Question Number : 48

Correct : 2 Wrong : 1

Who was the first woman riler in the 13th century in India ?
Options :

A *® Rani Gowri Bayi

B. % Chand Bibi

C. % Mehr Un Nissa

D. ¥ Jahanara

E. ¥ Raza Sultan

Question Number : 48
Correct: 2 Wrong : 1

13 off 9&T & 9T FT Ugel! AlgeT arew @ o
Options :

A ® T T A

B. ® =7 ofiedt

C. ® Age o fer

D. * SgyamT

E ¥ TS geae

Question Number : 49

Correct: 2 Wrong : 1

What was the call given in 1929 at Lahore by Jawaharlal MNehny? )
Onti www.upscstudymaterials.com
ptions :



A *® Do or Die
B -

www.upscstudymaterials.com
matyameva Jayate

C. ¥ Puma SwWara
D *® Inguilab Zindabad
E % Swara) 15 1y birthright.

Question Number : 49

Correct : 2 Wrong : 1

1020 H AR # ST Tt "5& G 1217 M ART =7 7
Options :

A ® AT AR

B. ¥ geawe SO

E. % T BT SATEE AT 31

Question Number : 50
Correct: 2 Wrong : 1

What was the all woman army led by Captain Laleshumi Sahgal called?
Options :

A ® Chand Bibi Core

B. ¥ Rani Jhansi Fegiment

C. * Free India Legion

D. * Indian Territorial Army

E. * Women Snipers core.

Question Number : 50
Correct: 2 Wrong : 1

T AEHT GETA o Aded § ATEATHT &1 AT H 7 THET A7 417
Options :

A ® oig FET @

B. ¥ T =t e

C. ® g% wRT &

D. ¥ sqdter e i €ar

E. % nfger @i Fit
General Enowledge/Based on Chhattisgarh)
Number of Questions: 50

Question Number : 51
Correct: 2 Wrong : 1

www.upscstudymaterials.com



The following lealchur kings rniled Chhattisgarh ﬁﬂm%%%%% dg%g%gﬁéls.com

1. Kalingraj 2. Kanalraj

3. Ratnaraj 4. Pratapmlla
Options :

A Y land?

B. ® Zand 3

C. % land3

D.* Jand4

E #* 3and4

Question Number : 51
Correct: 2 Wrong : 1

TIHTOT T & Ao Sofe]ie STEeh! = Seieng ot e fee-

L,

1. ST 2. A

3. T 4. UdTaH

o R

Options :

AV 1TE2

B ¥ 2073

C % 17d3

D * 10d4

E * 3ud4
Question Number : 52

Correct: 2 Wrong : 1
Blatch st 1{Superintendents posted in Chhattisgarh during the person of British protedorate 1518 to 1830 ) with List 2 ( Events)

List 1 List 2

(&) Capt Edmond 1. Transfer of capital to Raipur

(1) Major Agnen 2. Transfer of power to Bhonslas
(c) Capt. sandis 3. Fewvolt of the zamindar of Dongargarh
(d) Cap craufurd 4, Agreement biw bastar and karonde states

Options :
A % (a)-1,(0)- 2,(c)- 3.(d)- 4

B. # (a)-2,(t)- 4,0c)- 1(dD)- 3

b

C. ¥ (a)-3.00)- 1(c)- 4.0)- 2

b

D. * (a)-4,0h- 3,0c)- 20d)- 1

WS

E % (a)-4,(t)- 2(c)- 1(d)- 3

ity "

www.upscstudymaterials.com
Question Number : 52



Correct: 2 Wrong: 1 _
R | (Rfer deamrTe 1818 ¥ 1830 & pefvere AR ARV Rlenal? SOMy ) & it T

W GEl

a) e USHE 1. TYY H T ST T

b) T U= 2. offET @ T BT

¢) dted diEg 3. BT & FHG @ T3E

d) e FIHS 4. FEAT 3T WIE el H gASHAT

Options :

A ® (a)-1,0b)- 2cy- 3,(d)- 4
B. #® (a)-2.(b)- 4.(c)- 1.(d)- 3
C. ¥ (3)-3,(1)- 1,(c)- 4,(d)- 2
D. #® (@)-4,(0)- 3,(c)- 2.(d)- 1
E ® (a)-4,(h)- 2,(c)- 1,(d)- 3

S

Question Number : 53
Correct: 2 Wrong: 1

The following districts were initially induded in the Chhattisgarh Division under British administration-
1. Raipur 2. Bilaspur

3. Durg 4. Sambalpur

nelect the correct answer-

Options :

A %1 2and3
B. % 2 jand4
C ¥ 1, land4
D. %1, 3and4
E # land?

Question Number : 53
Correct: 2 Wrong : 1

Tafersr wama & i o gunT § uRe | et Ser afratee 9
1. ¥ 2. TelmmEqe

3. g 4. Heoqe

el I gha -

Options :

A %1 2ma3

B. % 2, 374

C.¥Y 1 2uT4

D. % 1,374

E ® 17a2

Question Number : 54

Correct : 2 Wrong : 1

Which of the following pair (Leader of the Eevolt of 1857 in Chhattisgarh and his area ) is not correctly matched?
Options :

A ® MNarayan Singh - Sonakhan www.upscstudymaterials.com



® rapy E4 } N
B. Kalyan Smgh - Udaipus www.upscstudymaterials.com
C. ® Surendra Sai - marmbalpur
D. ¥ Balram singh - Bastar

E. * Hanuman oitngh - Raipur

Question Number : 54

Correct: 2 Wrong : 1
TEimET # 8 B 9 ST ( FaaTe ® 1857 o Teae @7 AT Ud IHET &5 ) GHie Jai e 7

Options :

A % T ®E - SR
B. ¥ e [fE - I3O
C ® g T - G

D. ¥ e T8g - aeat
E ® gqu ®E - Ty

Question Number : 55

Correct : 2 Wrong : 1
The following were the leaders of the swaraj party established in 1923

1. Wainan Fao Lakhe

-2

. Pt. Rawvishanlear Shulda
3. Madhav Rao sapre
4 E. Raghavendra Rao

Select the correct answer

Options :

A % land?
B. ® 2and 3
C * 3and4
D. % land3

E ¥ 2and4

Question Number : 55

Correct: 2 Wrong : 1

1023 H TT0T TR S & Boieg H Haiead 471 4 -
1. SIS AT 2. O ThIeeht et

3. ATelEdTd | 4. $o e 0

el I G

Options :

A% T2
B. ® 203
c. % 3ua4
D. ¥ 1793
E ¥ 2ud4

www.upscstudymaterials.com



Question Number : 56 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1

Which of the following statement is not true about the merger of teudatory states of Chhattisgarh in Indian umion 7
Options :

A #® The process of merger was completed on Lst January 1948

B. * Pt Ravishanlear Shulda's contribution was significant

C. % The Merger took place under the guidance of Sardar Patel.

D. * Rulers of all states signed the merger docwments.

E. ¥ Bastar state was not included in this IETgEr.

Question Number : 56

Correct : 2 Wrong : 1

TG & T, NATEd T & R 4 96 § Sideras o gae § Faieiad § & o 9] 70— 907 751 8 7
Options :

A * e & ARpaT | SHaer 1048 @7 qof 58

B. * AfeaT § O T o T Ageaqu Jimar o

C. ® @iawaT aeg ued & Antged # 9oy g

D. ¥ woft framaat o et # SieeeT o # peaTan o

E ¥ geqe foamad @ o gidead 7 aniier Jgt e mar

Question Number : 57
Correct: 2 Wrong : 1

Boundaries of district of Chhattisgarh touches the states, match it.

District Htates
(1) Jashpur (&) Maharastra
(1) Balrampur (1) Andhra Pradesh
(1) Kanler () Madlya Pradesh
(1w) Suloma (d) Odisha
(v) Bilaspur (&) Jharlhand

Options :

A B a-(i), b-(1v),c-(ut), d-{v), e-(i)
B. % a-(1v), b-(1,c-(i), d-(v), e-(i)
c ® a-(1), b-(v),c-{ut), d-(i), e-(1v)
D. ¥ a-(ut), b-{1v),c-(v), d-(1), e-(11)

E ® a-(v), b-(1v),c-(i), d-(i1), e-(1)

Question Number : 57
Correct: 2 Wrong : 1

www.upscstudymaterials.com



weitETg o Foret |AT o Tt & TR & gRie A1 -

.upscstudymaterials.com

EEI 0=

(1) ST - (a) HERTE
(i) SCTHY - (b) Sremgsr
(1) T - (c) meAmEer
(tw) AT - (d) anizam
(v) TeIFTerg - (e) SATETE
Opt;)ns :

a-(i), b-(1v),c-(ut), d-{v), e-(i)

R ad(iv), b-(i), e (i), d-(v), e-(ii)

R a-(t), b-{1v),c-{v), d-(1), e-(1)

i

it

B

c ® a-(1), b-(w),c-(u1), d-(1), e-(1v)
D

F ®

a-(v), b-(1),c-{1), d-(i1), e-(1)

Question Number : 58
Correct : 2 Wrong : 1

Urban local self Government imstitution’s election is conducted by
Options :

A * FElection Commission

B. ¥ State Flection Commission

Local self Goverunent conunission

D. * Urban Drevelopment comumission

E. #* State Government

Question Number : 58

Correct: 2 Wrong : 1

I T 1 EATE HepTal @i e[1a feerar & -
Options :

A % Tyafae s

B. ¥ T Tafer s

C. * T EaSTE AT

D. ® et Terammer s

E ® T ames

Question Number : 59
Correct : 2 Wrong : 1

What was the date of Round Table conference concerning Paclyvat held at Raipur-
Options :

A #® May 2008

B. ¥ April 2009

C. ® March 2010

D. * Sept. 2006

E  June 2004 www.upscstudymaterials.com



Question Number : 59 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1

TR H UETIE T | ST TieH are & fafer g of -
Options :

A % 7008

B. % arfer 2000

C. ® ¥Rl 2010

D. * T&qraw 2006

E ¢ 572004

Question Number : 60

Correct : 2 Wrong : 1

Which of the following city is not a district in Chhattisgarh-
Options :

A

A B Marayanpur
B. % Balrampur
C. % Korba

D. ¥ Konta

E ® Surajpur

Question Number : 60
Correct: 2 Wrong : 1

T | & @1 6T 25T S0eg § U ool 957 & -

Options :

A % AR
B # geemy
C. % Fer

D. ¥ @iar

E % gr=ge

Question Number : 61
Correct : 2 Wrong : 1

What is the provisions of reservation to other Bacloward classes in those Janpad Panchayats where the population of scheduled
caste and scheduted Tridbes is half or less than of the total-

Options :
A ® a0
B #®

200
33%

Cov 159,
D * 50%
E % 30%

Question Number : 61

Correct: 2 Wrong : 1

T T, T T H SR AT o e ST i g ST ATer 37 AT € WH g a5l o oS a1l o oig Tha e uid e
TGN T T &-

Options :

A % 40% ,
www.upscstudymaterials.com
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Question Number : 62

Correct: 2 Wrong : 1

Which is the stipulated period is which no confidence motion can not be introduced against sarpanch / Deputy Sarpanch in
Chhattisgarh

Options :

A B Up to 6 months

B ¥ Up to 1 year

c * Up to 2 YVears

D *® Up to 20 1/2 years
E % Upto 1 {1/2) vears

Question Number : 62

Correct: 2 Wrong : 1
UG | OO0 (30 TR0 o Teleeg |, T8 &l Teha T S1aTel dar STTePalTe UedTd A1 w1 =T TardT -

Options :

A % G W FT ST T

B. ¥ | anf T sraEfe aw

C. ® 2o & ety T

D. ® 2¢1/2) ad & st a@
E #® 1 (1/2) af &7 st 9@

Question Number : 63

Correct: 2 Wrong : 1
Mot Included in Ganga drainage system is -
Options :

A B Koriya
B. * Burajpur

c * Balrampur
D v Eorba-Eoriya

E * Surajpur- Balrampur

Question Number : 63
Correct: 2 Wrong : 1

TITIT 31veTg 93 § Gifffed 76t
Options :

Question Number : 64

www.upscstudymaterials.com
Correct : 2 Wrong : 1



Water - shed between Mahanadi and Indrawvati is - i
www.upscstudymaterials.com
Options :

A ¥ Keshlal scape

B. # Eondagaon Plate
C. ® Abushmarh hills
D. *® Antagarh Upland
E ® Bhanupratapur hills

Question Number : 64
Correct: 2 Wrong : 1

AETHal Ud Sraldd | & FEd Fel [T &-

Options :

A FEETH TR

B. ¥ wieTeg o1 U

C * srEmE & TETE
D. % T Ig 9w

E ¥ 9T vgTisar

Question Number : 65
Correct : 2 Wrong : 1

In which tahsils of Chhattisgarh Mailal range is extended-
Options :

A B Fajnandgaon, Khairagarh, Eawardha

B *® Ehairagarh, Wungel, Rajnandgaon

C. ¥ Penra, Lormi, Khaira garh

D. ¥ Kawardha, Lormi, Iungeli

E # Iungel, Ehairagarh, Kawardha.

Question Number : 65

Correct: 2 Wrong : 1

wefteTe 3 R atert 3 Heper ATt Freai 2
Options :

A * TR T BT, e

B. ® &g, giel ,TeE W

C. ¥ TugT | FRAT, TS T

D. ® apererf SHLETRT

E. % e, @eme, et

Question Number : 66
Correct: 2 Wrong : 1

Local names of the soils found in plateau of Bastar (series from high land to low land)
Options :

A % Tilera, Mal, Marhan, Gabhar

B. ¥ Mal, Marhan, Gabhar, Tilra

C. ® Gabhar, Tilera, Marhan, Mal

D. ¥ Marhan, Tikra, Mal , Gabhar

E. * Tilra, Marhan, Gabhar, Mal www.upscstudymaterials.com



Question Number : 66 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1
TETT o TS H UTE A ATel TS AT & T AT & (35 90 o T 7 & ol H)

Options :
A % Trep, BT, WRE, THI

Question Number : 67

Correct : 2 Wrong : 1

According ot 2009 in the view of reserve in diamond the contribution of Chhattisgarh to country is -
Options :

Approzmate 28 %

Approzimate 32 %

Approzmate 23 %

Approzimate 19 %

¥ un n ¥ 4

A
B.
C.
D
E. Approzimate 35 %

Question Number : 67
Correct: 2 Wrong : 1

2009 & SgHR ERT & WIS DI S8 § T4 H geenTs &7 AMEH &-
Options :
A ¥ T 28%

B. ¥ & 3%
C. ® T 23%
D. % T 19%
E. % #TAT 39%

Question Number : 68

Correct : 2 Wrong : 1
Match List 1 (Minerals) with List 2 { Reserve area)

List 1 List 2

(a) [ron-ore 1. Paylilhand
(L) Bauzite 2. Chargaon

(c) Diamond 3. Chitalnar

(d) Tin 4. Phutlcapahad

Select the correct answer-
Options :

A Y a1 b4c-1d3

B. #* a-2,b-1,c-4,d-3

C % 23 bdcadl www.upscstudymaterials.com



D % a4 b-3c-1.d-2

www.upscstudymaterials.com
E % al,b-4,c-2,d3

Question Number : 68
Correct: 2 Wrong: 1

T 1 (afeenet gt 2 (W A ) & GRS
T 1 T 2

(a) Mg 3 qed 1. TR ES

(b ) FTEEEE 2. AR

(c) &M 3. TR
(dy e 4. JTATURTS
SERC R

Options :

A Y a204.c-1,d-3
B. ® a-2b-1,c-4.d-3
C. ® a-3b-4,c-2,d-1
D. # a4b-3c-1,d-2
E % a1.b-4,.c-2,d-3

Question Number : 69

Correct: 2 Wrong: 1

Which of the following place is located on the bankes- of river Shrmath-
Options :

i

A * Kharaud

B. * Turturiya
c ® Drevpahar
D. ¥ Ma dlaudarip
E % Arang

Question Number : 69
Correct : 2 Wrong : 1

TETEET @ 97 T TS Aar 3 a0 0 R B
Options :

A % mlg

B. % qeaicem

C. ® Famgd

D ¥ #eg &

E # am

Question Number : 70

Correct: 2 Wrong : 1

Up to march 2013 Gowvernment of Chhattisgarh has received revenue from “VAT' is
Options :

% www.upscstudymaterials.com
A E5 507276 crores



B. ¥ RS. 6072.76 crores
C. ® RS. 7072.76 crores
D. ® RS. 8072.76 crores
E. ® RS. 0072.76 crores.

www.upscstudymaterials.com

Question Number : 70

Correct: 2 Wrong : 1

TG ST &l AT 2013 T4 "7 ' & UTH §1+ el Taed &-
Options :

A % 5072.76 TEIE T

B. ¥ 6072.76 Fls &0

C. ¥ 7072.76 TS T

D. % 3072.76 Tils &0

E * 0072.76 Tils &0

Question Number : 71
Correct : 2 Wrong : 1

As on January 2014 which district of Chhattisgarh states has the lowest number of fair price shops-
Options :

A ® Dantewada

B. ¥ Marayanpur

c *® Bijapur

D. % Kanleer

E #* Bastar

Question Number : 71

Correct: 2 Wrong : 1
Sfeet 2014 i T H oeitenTs = & e el # I e @it Hed @F g &-

Options :

A ® TyETET
B. ¥ IR
c * e
D. ® @y
E * gedae

Question Number : 72
Correct: 2 Wrong : 1

What was the total production of soyabeen in Chhattisgarh in 2012-13.
Options :

A *® 180.65 Thousand M.T

B. * 189.35 Thousand M.T

C. ¥ 101.80 Thousand M.T

D. * 103.67 Thousand M. T

E. % 10556 Thousand M. T

Question Number : 72

Correct : 2 Wrong : 1 www.upscstudymaterials.com

T 2012 -2013 H geitang d S §1 Fol Jeaig =T &7 -



Options :

A ® 130655 H 0 7T
B. % 18035 g HY 0 7
Cc. ¥ 10180 g AT 0 &
D. % 193,67 gA AT 0 7
E % 10556 g HY 0 7

www.upscstudymaterials.com

Question Number : 73
Correct: 2 Wrong: 1

Chief minister food Gram Assistance scheme in Chhattisgarh was lauinched on
Options :

A % 1 April 2003

B. ¥ 1| April 2004

C. ® 1 April 2005

D. * 1 April 2006

E ¥ | April 2007

Question Number : 73

Correct : 2 Wrong : 1

THrETg I JEIHAT @I Hg =T AT @1 TR g1+ &7 o o7 -
Options :

A ® 1z 2003

B. # | 3 2004

C. ® 1 =i 2005

D. ¥ 1 30 2006

E. ¥ 1 afier 2007

Question Number : 74

Correct: 2 Wrong : 1

Which district of Chhattisgarh state has more netsown Area.
Options :

A % Bila spur

B. ¥ amigir- champa

c v Fanandgaon

D. # Bemetara

E. * Baloda bazar

Question Number : 74

Correct : 2 Wrong : 1

TRTETE T4 & Tord Totel ® & 11T & arfere ¢
Options :

A e

B. % -z

C. ¥ TR T

D. * afqa

E * gelgra=n

www.upscstudymaterials.com



Question Number : 75

Correct : 2 Wrong : 1 www.upscstudymaterials.com

Which district in the following has more paddy area in 2011-12
Options :
AV Janjgir- champa

B *® Fajnandgaon

¢ ¥ Nahasamund
D. % Baloda Pazar
E % Faipur

Question Number : 75
Correct: 2 Wrong : 1

T e el 7 2011 -12 F o7 7 & S1ew
Options :

A Y ST T

B. ® T ma

C. % Flg EH-‘T'J\
D. % eeiaEr ae

E % T

Question Number : 76
Correct : 2 Wrong : 1

Bhairamgarh Widllife sanctuary formed in
Options :

Question Number : 76
Correct: 2 Wrong: 1

WA STHFET0T @el AT

Question Number : 77

Correct : 2 Wrong : 1

Chedru famous as tiger lad of madia tribe belongs to wlich district-
Options :

A Marayanpur

B. % Bijapur

C. ® Bastar

% www.upscstudymaterials.com
L % Kondagaon



E. * Dantewada .
www.upscstudymaterials.com

Question Number : 77

Correct : 2 Wrong : 1

TR The o 0 0 ERemd ATiea A1 & cige Tond il & Hated &
Options :

A IRETT

B. % T

c ® geav

D. % mwemmea

E # gedanet

Question Number : 78
Correct: 2 Wrong : 1

Guravat 15 -

Options :

A * Gandharav Marriage
B. # Seva Ilarriage

C. ® Obstinate Iarriage
D. ¥ Barter Iiarriage

E. * Purchase Marnage

Question Number : 78

Correct : 2 Wrong : 1
TR & -

Options :

A e TETE

B. ® & Tamg

C. ¥ gz faam

D. ¥ &t Terg

E % oy e

Question Number : 79

Correct: 2 Wrong : 1

Gendi dance is prevalent in which tribes
Options :

A % Mudia

B. % Ab vjlunadia

C. * Kora
D. ¥ Muria
E % Binjhwrar

Question Number : 79

Correct : 2 Wrong : 1

TET e o Wl Tee] =111 H -
Options :

A % gizar

p ® W@W www.upscstudymaterials.com



% T
C. * @ng www.upscstudymaterials.com

D. ¥ g
E # fEmEw

Question Number : 80

Correct : 2 Wrong : 1

In the following tribes the most Godna loving tribe is
Options :

A % Kamar

B. ®* Bhatra

C. * Nuria
D. ¥ Baiga
E. * Uraon

Question Number : 80
Correct: 2 Wrong : 1

TTeTET SeaTiaat # & ST e T F==id o

Options :
% gAw

A

B. ® smaer
c % ghem
D. ¥ =m
E * S

Question Number : 81
Correct : 2 Wrong : 1

Damnach dance is famous in which tribe
Options :

A ® Paiga

B. ¥ Pahadi Korwa

C. % Madia

D % Muria

E. * Dora

Question Number : 81

Correct: 2 Wrong : 1

THAS Je T AT H Ui &
Options :

A % g

B. ¥ UgTET FRar

c. ® mizan

D. % g

E * e

Question Number : 82

Correct: 2 Wrong : 1

"Maulear ld kameez" is authored by whom- )
www.upscstudymaterials.com
Options :



A % Vimal Mitra .
www.upscstudymaterials.com
B. * Hari Thalaur

C. * Amrita Pritam
D. ¥ Vinod lumar shulda

E. % Nulutdhar pandey

Question Number : 82

Correct : 2 Wrong : 1
Options :
A % Tome T

D. ¥ faAig gHI 9o
E ® ggeay qwey

Question Number : 83
Correct: 2 Wrong : 1

Telasibada is associated with which from the below-
Options :

A B Agherpanth

B. * Kabir panth

c * Pushtimarg

D ¥ matnampanth

E. * TeraPanth

Question Number : 83
Correct: 2 Wrong : 1

AeTetareT g # # s arard -
Options :

A % 3T

B. ¥ et

c. # gennt

D. ¥ Haqma oo

E # deroe

Question Number : 84

Correct: 2 Wrong : 1

sadashiv Gowvind Eatre 15 related to which field of worle -
Options :

A % Craft

B. # Tourism

c Laprosy Exadication

D. * Social Upliftment

E. * Trade Union

Question Number : 84 www.upscstudymaterials.com



Correct : 2 Wrong : 1
T e @ e @i & St %, www.upscstudymaterials.com
Options :
® T30 @e
B ® mefes
C. ¥ g8 e
D. ® g Jeur
E % mograg

Question Number : 85
Correct : 2 Wrong : 1

Match the following

Follit Dance Tribes

(1) Hulle (a) Madia
(1) Karsad () Nuria
(1) Sarbul (c) Abujhumadia
(iv) Gour (d) Urano
Options :

ﬂﬁ?alulhlmln |1',T||:1|1|

B. ® a-(it), b-{1v) c-(1),d- (i)

C % g (1v), b-(1) c-(1),d- (1)

D. ® a(ii), b-(ii) c-(iv),d- (i)

E # (1), b-(1i) c-(1),d- (1)

Question Number : 85
Correct : 2 Wrong : 1

TR @ GHierd P
e AT

(1) et (a) mTiEaT

(it ) FRATS (b) ghea

(it ) FEeT (c) SrggmmTIEaT
(iv ) T (d) 30T
Options :

L fa-fﬁ:l, h-li]-jizl -_‘,-I:i'\?:l,lj- I:i:I

a-(it), b-{1v) c-(1),d- (1)

a-(1v), b-{1) c-{1),d- (i)
-(itt), b-{1) c-{1w),d- (1)

A
B #
o ®
D *® 5
E ®

a-(1v), b-{ui) c-(1),d- (1) .
www.upscstudymaterials.com



Question Number : 86

Correct : 2 Wrong : 1 www.upscstudymaterials.com

Thinl over following statement with reference to 'Ghotul’.
1 Provide social Education

2. Assistance to choose life partner

3. Awaleen selfless services

Select the correct answer-

Options :

A *® 1 & 2 are correct
B. ¥ 1 .2 & 3 are correct
C. ® 2 & 3 are correct
D. * 1 & 3 are correct
E ® Only 2 is correct

Question Number : 86
Correct: 2 Wrong: 1

Tigel & Tad ¥ g o oY e Sy
1. AT T8 3T

2. Sifer |t @ SATe # "ETw

3. HaT AT AT FEAT

TRT oL T ATl AT

Options :

A %I TEE
B.Y 1 23fRiwgre
C ¥ 2aw3aEre
D. % 1 3fit3agrd
E * Shaer 2 @8l 8

Question Number : 87

Correct: 2 Wrong : 1

What was total installed capacity of power generation as on 31 December 2013 in Chhattisgarh.
Options :

A ¥ 6865 MW

B. ¥ 2875 MW

C. % 2450 MW

D. % 3000 MW

E % 4275 MW

Question Number : 87
Correct: 2 Wrong : 1

Tt | AT 31 Towrat 2013 @ Tere[d Ieaie of Hi0d &uaT fhat of
Options :

A ¥ 6365 ATTTETE
B. ® 2375 HAETE
C. ¥ 2452 BrmEne
D. ¥ 3000 AT
E. * 4275 O

www.upscstudymaterials.com
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Correct : 2 Wrong : 1

In which place Hydro Power house is located. www.upscstudymaterials.com
Options :

A * Barsur

B. ¥ Kawardha

C. * Rudd

D. ¥ Gangrel

E # Seepat

Question Number : 88
Correct : 2 Wrong : 1

TAH | Tepe T U A Tee]d g €1 &
Options :

A % gy

B. ® wauf

c. ® w&T

D. ¥ T

E #® i

Question Number : 89
Correct: 2 Wrong : 1

At the end of financial year 2012-13 number of electrified villages 15 Chhattisgarh was

D. % 1304
E % 13010

Question Number : 89

Correct : 2 Wrong : 1
Tt | Tee o 2012 -13 & o o T | el Terefd Igpd TTHT T &% ot

Options :

E. % 13010

Question Number : 90

Correct: 2 Wrong : 1

The Angadev is made of which in Bastar-
Options :

I

A % Sione
B. % Netal
C. * Clay

7w |
D. ¥ Wood www.upscstudymaterials.com



E * Sand .
www.upscstudymaterials.com

Question Number : 90
Correct : 2 Wrong : 1

qEAT H TS T A e Tomar ST B

Options :
A % gemE
B. % omg
c ® T
D. ¥ T
E %@

Question Number : 91
Correct: 2 Wrong : 1

What was the total mumber of census houses in Chhattisgarh as per census 2011
Options :

A % 55 Lalch

B. % 61 Lakh

C. ¥ 66 Lalh

D. % 40 Lakh

E. * 58 Lalch

Question Number : 91
Correct : 2 Wrong : 1

ST 2011 o STTAR ST W Sl FErTAT B Fer e a2
Options :

A R s5qmE

B. ® 61 7@

c. ¥ 66 g

D. % 40 7w

E # s3@m@

Question Number : 92

Correct: 2 Wrong : 1

What is the approxzimate percentage of families possessing Television sets is Chhattisgarh as per Census 2011
Options :

Question Number : 92
Correct : 2 Wrong : 1

ST 2011 & STJER BH a8 T - 0id 9 TRa i & T doilice 62 &
Options :
s ® 379

ik,
B ¥ 31 www.upscstudymaterials.com
. A0



C % ‘150_."

. L2750 .
www.upscstudymaterials.com

D. ¥ 42%

E # §1%

Question Number : 93

Correct : 2 Wrong : 1

Az per Census 2011, which district of Chhattisgarh has less lteracy rate in scheduled Tribes
Options :

A B Bijapur

B. ¥ Dantewada

c ® Marayanpur

D. # Bastar

E. * Kanker

Question Number : 93

Correct: 2 Wrong : 1
2011 T STATOET & SIHR S aTTg o T Teiot § SIgEe =i -=Td i § H1eRdT 5t 70 &

Options :

A B FEm
B. ¥ ZdaneT
C. ® JEmET
D. ® gwaw

Question Number : 94

Correct : 2 Wrong : 1

Who is enshrined in sanctum in Lazmaneshwar temple Khared.
Options :

A

A * Hanuman
B. ¥ Ram- Sita
C. ¥ Shiv-Ling
D. ¥ Shesh shayi Vishou

E. % Laxman

Question Number : 94
Correct: 2 Wrong : 1

WIIE o AEATPER ATey & TR | Teree ST &
Options :

A % gaEm

B. ® {H-dET

¢ ¥ Taatem

D. % St fEwy

E % memo

Question Number : 95

Correct: 2 Wrong : 1

Which ruler of south Kosal is related with Mala dmm from the followin
Obptions .upscstudymaterials.com
p :



I

A ® Teevardeva
B ¥ Villasttanga

C. % Harsh Gupta
D. * Prasannamatra
E % Utpal Dev

www.upscstudymaterials.com

Question Number : 95

Correct : 2 Wrong : 1

THAH | I AT AT ST P16 o Aofe o § Hred &
Options :

A % fag

B. ¥ e

c. % gimm

D * uEd wa

E * Foueed

Question Number : 96

Correct: 2 Wrong : 1

"Ancient Chandraditya Samudra named tanle is related to which place.
Options :

A B Arang

B. % Malhar

c * Bargaon

D. ¥ Barsur

E * Adabhar.

Question Number : 96

Correct: 2 Wrong : 1
' Ui g fged §Hg ATHE HXiat (e T & graied ¢

Options :

A % g

B. * Heglw

C. ® e
D. ¥ argy
E # aEwr

Question Number : 97
Correct: 2 Wrong : 1

Who is awarded ‘Dhanvantari Samuman’ in the year 2014 in Chhattisgarh.
Options :

A ® Dr Vishm singh Thalaw

B. # Dr. Ramakant Shulda

C. * Dr. Prashant Sharntara

D. * Dr DK Mishra

E ¥ Dr. DK Tiwari

Question Number : 97 www.upscstudymaterials.com



Correct: 2 Wrong: 1

ET—FI’HT@ﬁEﬁ 2014 T mwﬁj_@rﬁ_‘mﬁ\%(w.upscstudymaterials.com
Options :

A ¥ =7 fawy féig sge

B. % =T THTTed qaa

C. ® =T uemed g

D. ® =TETd sy

E ¥ =TE & Famr

Question Number : 98

Correct : 2 Wrong : 1

Which place from the following is not in the Fajin Panchicosi Foute-
Options :

A ® Pateshwar

B. # Kuleshwar

C. ¥ Bhuteshwar

D ® Kopeshwar

E ® Fengeslwar

Question Number : 98
Correct: 2 Wrong : 1

T © & I T T O U et A oH TR g -

Options :

A % g
B. ® gy
C. ¥ s
D. # wraw
E ® firaw

Question Number : 99
Correct : 2 Wrong : 1

According to 2011 census which district has more sex ratio?
Options :

A # Kanker

B. ¥ Dantewada

c *® Jashpur

D. *® Sarguja

E ® Durg

Question Number : 99

Correct: 2 Wrong : 1

2011 T SATOET & SR e e # W e ¢
Options :

A % g

B. ¥ ZedaneT

c % Faqy

®
D. RS www.upscstudymaterials.com
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Question Number : 100
Correct : 2 Wrong : 1

When Familerishria mission wiveleanand Ashram in Raipur was established-
Options :

A % 1055

B. * 1956

C. % 1057

D. ¥ 1958

E #1050

Question Number : 100

Correct: 2 Wrong : 1

T H THHUT THI TeelenTa, 3IPH &1 SI10T el g5
Options :
noowe 19

o
B # 1055
o 1057

20

D ¥ 1058
E # 1050

Aptitude Test

Number of Questions: 50

Question Number : 101
Correct: 2 Wrong : 1

Three jars &, B and C whose capacities are in the ratio of 1:2:3 are filled with nusthwes of alcchol and water. The ratios of alcohol
to water in A, B and C are 1:3, 3.5 and 5.7 respectively. The contents of these jars are emptied into a single vessel The ratio of
water to alcohol in the mizture in the vessel is

Options :
A %1323
B. ¥ 2313
Co%® 1423
D %* 2314
E * 2312

Question Number : 101
Correct: 2 Wrong : 1

A AR A, B 3T C T enfiearsii # 1 : 2 3 w7 U g, SToehipel ST UTHT o [FeA0l 9 9 U el A, B 8K C @ [0l # sloeigel
aﬂ?l:rﬁﬁa:-‘reqa’crﬁr%mﬂ: 1:5,3:53M05: 78 5 AN (AT @i Uk 3 a1 H STel [oa7 ATaT 51 od - o 507 H# 0T 377
C"n-lrfﬂ’-'lﬁmﬂ’-'—l'*?—ljblld

Options :

A %1303
B ¥ 2313

) www.upscstudymaterials.com
C *® 1423



D % 1314

E # 2312

www.upscstudymaterials.com

Question Number : 102
Correct: 2 Wrong: 1

The ratio of a two-digit numbers to the sum of its digits 1s 4:1. If the digit mn ten's place 15 3 less than the digit in one's place, then
the product of its digits is

Options :
A %10
B. ¥ 13
oo® 27
D * 35
E # 72

Question Number : 102
Correct : 2 Wrong : 1

ST 37T eIl e ST T Ik 3! o AT & AT 4 © 1 81 AT 5T T M S5 o 27 & 3 TH o, 91 56k T BT 0HHA ¢

Options :
A ¥ 12
B ¥ 13
Co%® 07
D * 35
E # 72

Question Number : 103
Correct: 2 Wrong : 1

A person spends 80% of his income. With the increase in the cost of living, his expenditure increases by 37.5%, and his income
mncreases by = percent. If his new saving's is 5(5/7) %o, then the value of = is

Options :

A Y 16(2/3)
B. * 1223)
SR 11O TE)
D. % 10(23)

E. * 001/3)

Question Number : 103
Correct: 2 Wrong : 1

W5 AT AT 7T @1 80% &l BT 5] Hells Gl H dieg o 10T I6 Gl H 37.5% 1 Jheg dUT JERT AT H 2% & Fheg 511
ie I =ik @1 -5 s 5(5/7) Y% &, T1 = T AT &1

Options :

A Y 16(2/3)
B. * 1223
C.o% 10013
D. % 10(2/3)

E * 0(1/3)

Question Number : 104

Correct : 2 Wrong : 1 www.upscstudymaterials.com



l(z')a:tml Q are inversely proportional to each other and are nggism{ﬁ d{/%Pa%léﬁia Taecegr}q:uy 100%, then Q decreases by
ptions :

A * 200%
B. * 1380%
C. % 150%
D. % 100%
E ¥ 50%

Question Number : 104
Correct: 2 Wrong : 1

P 3 Q UTEUR e HIUT | aT eTeHe g1 A P # 100% ST g gt z, aa Q T AT I

Options :
A % 200%
B. # 180%
C.%® 150%
D. * 100%
E ¥ 50%

Question Number : 105
Correct : 2 Wrong : 1

A fast train talces 3 hours less than a slow train for a journey of 600 lan. If the speed of the slow train is 10 lan/hours less than
that of the fast train, the sum of speeds (in lanthour) of the two trains is

Options :
A %30
B. ¥ 0Q
C. % 100
D. * 110
E * 120

Question Number : 105
Correct: 2 Wrong : 1

e AT e AR (e 600 Tt & i a2 S # U e <o aTell TSt € 3 0 WH GG od | 61 i i <o arelt met
TA o el =T &1 2= F 10 ToFrAVeeT @0 51, 97 59 g1 T3t & 2Tar (e @ 23 8

Options :
A %380
B. ¥ 0
“ 100
D. * 110
E * 120

R

Question Number : 106
Correct : 2 Wrong : 1

A person buys a table listed at Fs.= and gets successive discounts of 10% and 20%. He spends 10% of the cost price on its
transport. It he sell it for Rs. 910.80 and earns a profit of 15%, the value of z 15

Options :
A % 1250

ik
B. * 1200
c % 1p=0 www.upscstudymaterials.com



D ¥ 1000
E % 030

www.upscstudymaterials.com

Question Number : 106
Correct: 2 Wrong: 1

s e Ueh B 1, T gy §rd Rs X B, @UEAT & 3 36 0T B0 10% 3T 20% & & UTH a1 21 @ 3 Jrd @7 10%,
THT GoITs UT Gel BT ) TG, oF 56 B i Rs. 010 80 UT s T & 31T 15% &1 o1 WTH @il g, a1 X AT HH &

Options :

A %1750

A
B. % 1200
C. % 1080
D. ¥ 1000

E % 03D

Question Number : 107
Correct : 2 Wrong : 1

The rate at which a river flows is one-third the speed of a boat in still water. It the boat travels down the river for 3 hours and then
back up river for 3 hours, it will be 18 lan short of its starting point. The speed, in lan/hour, of the boat in still water is

Options :
A %G
B.*0D
C.o® 12
D * 15
E ¥ 18

Question Number : 107

Correct: 2 Wrong : 1

ST ST § U A1 & WelTg @1 oTel, Teh ATel @ ol @1 Ueh [els g TG o HTel o Wellg o SIge 3 U¢ ot [ & ¢ TThT Hal @ Ualg
o Widgel 3 W Te | &, 1 g S R IFH Tog & 18 ol iy Tg ST 31 a7 STef , A7l o =nel, enAieeT #, §

Options :

® 6

A
B.*0D
C.o® 12
D * 15
E ¥ 18

Question Number : 108
Correct : 2 Wrong : 1

A talees 6 days less than the time talcen by B to finish a piece of worle Both A and B together can finish the worlc in 4 days. The
ratio of one day's worlk of A and B is

Options :
AV
B. % 31
Co%® 32
D. % 12
E oz

|

Question Number : 108 www.upscstudymaterials.com
Correct: 2 Wrong: 1



TepefT o2 1 ORT et W B ST md e &, A o] I Wﬁﬁﬁﬁﬂwﬁﬂmjﬂaﬂﬂam%ﬁﬁ
TRT P T B A B a"?aamqarﬁ:rﬁﬁmqn@l%% rgaten com

Options :
AV
B * 31

Co%® 30

D * 12

E # 13

Question Number : 109
Correct: 2 Wrong : 1

In what time will a tanl be filled by three pipes whose diameters are 2om, 3em and 4cm, munning together, when the pipe with
largest diameter could fill it in 58 minutes, the amount of water flowing in by each pipe being proportional to the square of its
diameter”?

Options :

A * 24 minutes

B. ¥ 27 minutes
C. % 20 minutes
D. ¥ 32 minutes

E #* 36 minutes

Question Number : 109
Correct: 2 Wrong: 1

T | Ted §U,2 EATL, 3 |AT 37T 4 HT SITE aTel o1 UT3UT S0 T Tt Tehd = GH H 9T ST STl ch erd e T8 el TTsH
I 58 THET H 9 |epd 1 &, S Uedeh GRT agd gU UTHT &1 AT J§eh <16 o &1l o @R g ?

Options :
A % 4 TAT

B * 27 5T
Co* 20 AT

¢ 30T
E % 36 A7

Question Number : 110
Correct: 2 Wrong: 1

One hundred students of a class having two sections A and B toclk a test and their average score was 100, The number of students
of section A was 50% more than the munber of the students of section B and the average score of the students of section B was
50% higher than that of students of section & The average score of section B was

Options :
A %105
B. * 115
Co%® 120
D. ¥ 125
E * 130

Question Number : 110
Correct : 2 Wrong : 1

Tt e o, Torger 31 Saa-T A 3T B 9100 TeremedT uer ueram # o ST 3T aigd wiETe 100 @M fwga A o et & 9Ear B
o Teremidt & ST ' 50% mﬁfﬁmaﬁTﬁﬁrﬂ?B o Teremidrt @ o WTHTeR T ST WTHT, A o TerentE o afte uTHTeE °
50% STTEr &M & B T e Wity o www.upscstudymaterials.com

Options :



A %105

S %118

www.upscstudymaterials.com

B
Co%® 120
D. ¥ 125
E

%130

Question Number : 111
Correct : 2 Wrong : 1

Three different numbers are selected at random from fist ten natural munbers. The probability that the product of two numbers is
equal to the third is

Options :
A %10
B. * 23
C. ¥ 1/40
D. % 1/3

E * 1/60

Question Number : 111
Correct: 2 Wrong : 1

UEel 6 W dearat § & 1 Ty SEd At eed ® & gt AT g1 SE ! HIehdT 1o 5 SEaralt @ [0 o el @%edr o
TR BT, T B

Options :
A %0
B. % 213
C. ¥ 140
D. % 1/3

E #* 1/60

Question Number : 112

Correct: 2 Wrong : 1

First four terms of an arithimetic progression are a,3,b and 22 respectively . The ratio ofa to b 1s
Options :

A Y13

B. ¥ 12

C. % 14

D. % 23

E # 25

Question Number : 112

Correct : 2 Wrong : 1

e FHTAE ST o T I UE AT a,2b AR 22 a WL H eI &
Options :

A Y13

B. % 12

o 14

D. % 23

E # 15

www.upscstudymaterials.com



Question Number : 113 _
Correct : 2 Wrong : 1 www.upscstudymaterials.com

The sum of the first three terms of a geometric progression (GF) is 7 and the sum of their squares is 21. If the conunon ratio is
less than 1, then the product of first five terms of the GP is

Options :
AV

L]
. %
o 4=

=
b
L

Question Number : 113

Correct: 2 Wrong: 1

TERET TIUTIRTC ST o WeI| o 1+ U &7 T 7 & 3710 Ieeh aiTl e 0T 21 81 IS HTel STHTe Ueh © W &1,a7 5H S6 1 o WA Ui=f Ul v
T &

Options :

AV

o
: B B
= -

=
i
e

Question Number : 114
Correct : 2 Wrong : 1

\ 3 A

| o s i e e
The sum to mfinity of the series 2 2 2 13
Options :
p e 4

S

D ¥
E ¥ 5

Question Number : 114
Correct: 2 Wrong : 1

TN W
i 25 Bk S g

Options :

¥ S w7 TR

A e 4

i

1
4=
2

B *

LW ]

www.upscstudymaterials.com



5— www.upscstudymaterials.com
D *
E ¥

Question Number : 115
Correct: 2 Wrong : 1

If mPn = mCT . (m>n) then {m-n) is equal to

Options :
V'
% 7

Ll

0o @ o

w
%4
£

el

L |

Question Number : 115
Correct: 2 Wrong : 1

i “F, = "“C,, (m>n), §, T (m-n) 90 &
Options :
V'

%

Lsd

L S T = S =

®
%4
£

x|

L

Question Number : 116
Correct: 2 Wrong : 1

If o and P are roots of x? + px + g = 0 such that |a-B| = 1, then P? is equal to
Options :

A %4y

B. ¥ g+l

C. % 4g-1

D. ¥ g1

E ¥ 4g+1

Question Number : 116
Correct : 2 Wrong : 1

A X2 +px+q=0 F A AT 3R 3H ISR & & |a-p| =1 &, I P? U 2|
Options :
A ® o4y
B. ¥ g+l
C. % 4g-1
D. ¥ g1
E ¢ 4g+1

Question Number : 117 www.upscstudymaterials.com



Correct: 2 Wrong: 1 _
, 2 www.upsglsgjd%matenals.corp ) y
If the roots of the equation x° — px + g = 0 are a and b, then which of the following equation has roots

(a+ b YVand(b+a1)?

Options :
x3+{p+f}x+{q+i+2}=ﬂ

A

., x“—(p+§)x+(q+i+2)=ﬂ

- xz—{q+§}+{p+%+2}=[!

o o% xz—(p+§)x+{q+i+2)={]

P % xz—(q+§)x+{q+§+2)

Question Number : 117
Correct : 2 Wrong : 1

A AT xE —px+q =0 F Ao 37D 79 e 7 & vy weEor F 7T (a+ b 1) 3R
(b+a )&
Options :

x3+{p+f}x+{q+%+2}=ﬂ

= (p+E)x+(g+i+2)=0
e e

Hgmis P 1 Ak
cx ” (@+D+@+,+2)=0

o % xz—(p +§)x +{q +%+2)={]

E % xz—(q+§)x+(q+i+2)

Question Number : 118
Correct: 2 Wrong: 1

How many seven digit munbers can be formed with the digits 1,2,3,4,3,2,1 so that the odd digits always occupy the odd places?
Options :

Question Number : 118

Correct : 2 Wrong : 1

T 1,2,3,4,3,2,1 T W L §U, 7 3ThT aATell (-1 AT =18 A7 et [ & AT1eh [elWH 31 Heel TeIq T 0T 51 517
Options :

rn % g

ik =

www.upscstudymaterials.com



D % 54

www.upscstudymaterials.com
E % 72

Question Number : 119
Correct: 2 Wrong: 1

x2(a—b) + a?(b—x) + b? (x — a) is equal to
Options :

. % (@a—b)(x —a)(x + b)
p v (@—Db)(x —a)(x —b)
«x (b—a)(x+a)(x—D)
L x (@+b)(x —a)(x + D)
% (@a+b)(x—a)(x—Db)

Question Number : 119
Correct : 2 Wrong : 1

x?(a—b)+ a®?(b—x) + b?(x—a) TR &
Options :

o x (@=Db)(x —a)(x+ D)
p v (@—b)(x —a)(x —b)
% (b—a)(x+a)(x—D)
L« (@+b)(x—a)(x + D)
. x (@+b)(x—a)(x—b)

Question Number : 120
Correct: 2 Wrong: 1

A person on the top of a cliff observes a boat at an angle of depression of EDD which 15 approacling the shore to the point

immediately beneath the observes with a uniform speed. Twelve minutes later, the angle of depression changes to riEID. The total

time (in minutes) talcen by the boat to reach the shore is
Options :
® 12

M
o

B. % 15

Question Number : 120
Correct: 2 Wrong : 1

www.upscstudymaterials.com



TETET T SNET U ST U S U AT AT e SR R0 B, 9w T a3 R 7w e o St
el o T @1 AT GA A1 & TR 81 12 ﬁmmmmaﬁmn”s‘rw% ATel @ T b Uger H ST 2Tl fed
AT (et /) 71

Options :

s, ¥ 12

£k
B ¥ 15
c. ¥ 13

D % 27
E % 35

Question Numbers : (121 to 125)
Study the following table and answer the given

City Percent population Ratio of the number of Males (M) and females (F)
Below )
Poverty Line (BPL) BPL Not BPL

M:F ME

A 5:4 3:2

= 3:4 5.7

C 2 2:3 4:5

i 22 5:6 3:2

; 10 3:2 6:5

¥ 18 4:5 2:3

questions

Sub questions
Question Number : 121
Correct : 2 Wrong : 1

If the total population of city A is 300000, then the difference of the number of males (BPL) and the number of feamnales (Mot BFL)
in this city is

Options :

A % 30000

B. % 54000

c. ¥ 63400

D. % 74400

E. % 08400

Question Number : 122

Correct : 2 Wrong : 1

If the population of females (BPL) in city D 15 24000, then the total population of city D (in thousand) is
Options :

A %176

B. ¥ 200

c. % 111

D % 240

E % 440

Question Number : 123
Correct : 2 Wrong : 1

If the population of male (not BPL) in city E is 27000, then the total population of this city is
Options :
A #7500 www.upscstudymaterials.com



B. * 65000
C. % 50400
D. % 40500
E ¥ 55000

Question Number : 124
Correct : 2 Wrong : 1

If the total population of city B is 500000 and that of C 15 350000 then the ratio of the number of females (BPL) in B and C 15
Options :

A V16001

B. % 21:16

C.*6:7

D #7:6

E %47

Question Number : 125

Correct: 2 Wrong : 1

www.upscstudymaterials.com

If the total population of city F is 400000, then approzimately what percent of the munber of females (not BPL) is number of
males (BPL) i this city is

Options :
A % 366
B. * 217
C. % 154
D. ¥ 16.3
E %03

Question Numbers : (121 to 125)
Tor| TTAeRT T Sre T a1 0 & 3o¢ S0

EEIrS P IGEG RE e qeyl (4 ) dur AR (7 ) 1 ' # 399
I @ A
BPL BPL =&l
(BPL)

f{a:H li:iFT
A 18 5:4 3:2
B 14 3:4 h:7
C 25 e 4:5
D 7 5:6 3:2
E 10 3.2 6:5
F 18 4:5 2:3

Sub questions

Question Number : 121 www.upscstudymaterials.com
Correct: 2 Wrong : 1



Eﬁizwsrzmﬁgﬂmﬂwmnnn%,mzﬁﬂm} .upﬁwm@égiasﬁggqﬁ)nﬁmﬁfﬁmmm%
A ® 30000

B. # 54000

C. ¥ 63400

D. ¥ 74400

E. % 03400

Question Number : 122

Correct : 2 Wrong : 1

T D § AT (= Of Ua ) Aigaralt ol S=eeEar 24000 § 99 TR D &1 e ATaEdT (G H ) &
Options :

A %176

B. % 200

c. *® 111

D. ¥ 240

E # 440

Question Number : 123
Correct : 2 Wrong : 1

I E # Tl (& O U Al ) QROT @l HEAT 27000 &, T 56 A i Pl AAEET
Options :

A ® 57500

B. ® 6000

C. ¥ 50400

D. ¥ 40500

E. ¥ 55000

Question Number : 124

Correct: 2 Wrong : 1

zﬁf{:mga T et S EET 500000 § T4T AT C T et STEEar 350000 & , & B T=47 C W S (#f Ut U e & ST aerel '
ST

Options :

A V16001

B. ® 2116
C.®6:7
D.®¥7:6

E %47

Question Number : 125
Correct: 2 Wrong : 1

afc‘[:n%?F T el SAEET 400000 & Ta 36 AT H (2ft Ut O A5t ) Wigeralt ot §dT 67 T AT i S (et O Uer) Rt @t
T

Options :

A % 3646

B. ¥ 217

C. *® 134

D ¥ 163

E ® 08

Question Numbers : (126 to 130) www.upscstudymaterials.com



Study the following tables & graph and answer the questions
www.upscstudymaterials.com

Break- up of items exported each month

Country X's Export (in Rs. Croeres) in different months of 2014

Months Janwary Febmary March April May June
Exports 350 300 330 290 325 385
(Rs Crores)

Sub questions

Question Number : 126

Correct : 2 Wrong : 1

What is the average export ( in Es. Crores ) of wheat from January to June ?
Options :

k=]
L2

|
d

Do @ e
§ % ¥ %
u:.'\-l:l!:r:l
=1

. 24
% 1108

Question Number : 127
Correct : 2 Wrong : 1

x|

The exzport of wheat in January 15 approzmately what percent greater than that of nice in Way 7
Options :

A %543

B. % 513
c. ¥ 503

D. % 402

E % 354

Question Number : 128

Correct : 2 Wrong : 1

The exzport of pulses in June is how many times that of sugar in February 7

Options :

A %065

B.Y 154

C. * 1.06

D * 158

E % 176

Question Number : 129

Correct: 2 Wrong : 1

The export of coffee and ‘others' together in Warch is approxzimately what percent of the export of wheat and rice in April 7
Options :

A B
B % 34 www.upscstudymaterials.com



c % 33

D. ® 426

E ¥ 45

Question Number : 130
Correct: 2 Wrong : 1

www.upscstudymaterials.com

In the pie-chert, the sum of central angles is IDSD of the two sectors representing
Options :

A ¥ Pulses and coffee

B. * sugar and rice

C. ® wheat and others
D * pulses and wheat

E. * riceand sugar

Question Numbers : (126 to 130)
e G 3T 3reiE 7 areaEe ey ofit U & e Sy

2014F B AT H S X 71 Pl @ = # )

#Er ECco et AT a1ter #HE E
e (@ 350 300 330 290 3bg 355
g #H )

Sub questions
Question Number : 126
Correct: 2 Wrong : 1

ST S T g BT ST T (7 HS #H ) T g ?

Options :

Question Number : 127
Correct : 2 Wrong : 1

eI H T o7 T, WE W =ATee @ [ € e fepe wid e e & 7
Options :
A ¥ 573

B. ¥ 523

223
c. ¥ 508
D % 402
E % 354
Question Number : 128
Correct : 2 Wrong : 1

STt e O Tt orea i ST 3 vt o R pRsEsiudymaterials.com

TlE Aol # AT f 7S aegn & fEar




Options :
A * D65
B ¥ |54

www.upscstudymaterials.com

C ® 106
D % 158
E % 176
Question Number : 129
Correct: 2 Wrong : 1

Al H I 37T 'S ' o1 e TRt ier, STt H Tig SI1T SITelel 1 el THerhY [id &1 sl e & 7
Options :

A % 284

Question Number : 130
Correct: 2 Wrong : 1

T ad . 3 3 PTave e ait ey i 108° 2 < R ot et e 2
Options :

A ¥ Tt ST TR
B. ® =fit 3fie =meer
c. ® T o e
D. % gwrafr g

E. ® =reer offe =it

Question Number : 131
Correct: 2 Wrong : 1

Find out the word-pair in which the two words hold the same relationship as the two words in the word-pair given below.
Lightening : Thunder

Options :

A ¥ Pain Injury

B. ¥ Disease : Medicine
C. % Accident : Drriving
D. * Coolang : Fitchen
E. #* Flood : Water

Question Number : 131
Correct: 2 Wrong : 1

e Ta T 39 eg-STST @ UAT /Sy A e 150 T 2t Meg el & 9T R fl
Tied : I

Options :

A Y IE ar

B. ® 7 afmier

C. ® '1.5:' ElF',FI Z;IEiaJI

D ¥ g ErueET: LE:1EY www.upscstudymaterials.com



E % @g: F .
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Question Number : 132
Correct : 2 Wrong : 1

The first two terms on the left side of the sign ' are related in a certain way. The same relationship holds for the second pair of
terms on the right side of the sign "' of which one is missing. Find the missing one from the alternatives.
BYWD : ZCFU . WDFU . 7

Options :

A ¥ DWTG
B. * FURI

C. * EVIG
D. * FUSH
E. ¥ EVSH

Question Number : 132
Correct: 2 Wrong : 1

ToIg ' & WS A < Ugel &1 SITehe Ueh WTE g o haved gl Ferg o F it a0 o valt & gE St & BT HY gH dheee B
&, oA & U e 81 Teedt # € Te T T 09T @)
BYWD : XCFU . WDFU : 7

Options :

A % DWTG
B. * FURI

C. *® EVTG
D. * FUSH
E ¥ EVSH

Question Number : 133
Correct : 2 Wrong : 1

The first two figures on the left side of the sign "' are related i a certain way. The same relationship holds for the second pair of
figures on the right side of the sign " of which one is missing. Find the missing one from the alternatives.

: v f | N a
S o i

S gl

[

Options :

/E
N

www.upscstudymaterials.com
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N7
&
&

DY

Question Number : 133
Correct: 2 Wrong: 1

TEIg " & WS A < Ugel &1 SIehe U WTE qg | Ghaved gl g o © SifeT 9 o ualt & ga et & BT HY qH dheee B
7, oA & o e 81 oeedt # € Te T T 09T @

R S b

s

I
N

Options :

www.upscstudymaterials.com
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p ®
o % Q
D v
%J
Fu

Question Number : 134
Correct: 2 Wrong : 1

Which munber will come next in the following munber series?
1,2,4,21, 88,7

Options :

n B

A %3
B. ¥ 445
C. % 441
D. % 268
E # 465

5

LA

Question Number : 134
Correct: 2 Wrong : 1
1, 2,6, 21, 88,7

Question Number : 135

Correct : 2 Wrong : 1 www.upscstudymaterials.com



Which munber will come nezxt in the following munber series? .
Www.upscstudymaterials.com

3,6, 18, 21, 63,7
Options :
A %130
B. % 47
c. ® oo
D. ¥ 64
E % 72

Question Number : 135
Correct: 2 Wrong : 1

3,6, 18,21, 63,7
Options :
A % 130
B. ¥ 47
c. % oo
D. ¥ 46
E # 72

Question Number : 136
Correct : 2 Wrong : 1

Which munber will come nest in the following number series?
1,4,13,30,61,7

Options :
A %14
B. ¥ 176
% 04
D * 116

Question Number : 136
Correct: 2 Wrong : 1

1, 6, 13, 30, 61,7
Options :
A %14
B.¥ 125
C. % o4
D. # 116
E % op

Question Number : 137

Correct : 2 Wrong : 1 www.upscstudymaterials.com



A miztture of 56 lters containg mille and water in the ratio of St" J‘IDWtﬂm h water(in lters) should be added to the misture so that
the ratio of mille to water becomes 547 www.upscstudymateria S com

Options :
A VG

Question Number : 137

Correct: 2 Wrong : 1

56 et o e TEPHUT e ST U1 T SrOTd 5:2 81 TEsqur # afi Teoher1r ot itee ®) TAer=m =gy for g siit ort &7 argum 5:4 5
G L

Options :

A VG

B. % 18

Question Number : 138
Correct: 2 Wrong: 1
When 40% of a munber 15 subtracted from 119, the result 15 the number itself The munber 1s;
Options :
A % 0D
® 75

[=1]
[a]s]

0

[ ]

B.

Co®
DH
E % 35

Question Number : 138
Correct : 2 Wrong : 1

el e T & 40% W 110 H F USTT AET &, 97 TR0H T a5 T ST ATE T g 9T b
Options :
A % 0p
E 75

[ ]
—_

®
®
Vg

WUGF“

Question Number : 139
Correct: 2 Wrong: 1

In a class of 60 students, 30 passed m Mathematics, 40 passed in English and 10 failed i both the subjects. How many students
passed in both Mathematics and English?

Options :
A %10
B * 15

i el www.upscstudymaterials.com



D % 15
E % 30

www.upscstudymaterials.com

Question Number : 139
Correct: 2 Wrong: 1

60 TSR T e e, T A 30 ST g, S & 40 S0t g, S 10 AT Rt & S g i e s 2 R

Options :
MR

i

B. % 15
(ol |
D. 33 N
E ¥ 30

Question Number : 140
Correct : 2 Wrong : 1

If A+ B means A is the father of B; A - B means A i5 the wife of B, A = B means A is the brother of B and A =B means 4 i5 the
daughter of B, then

Which of the following means ‘P is the maternal uncle of 5'7
Options :

A®Rz5-Q+5

B. ¥ PxQ+R=5

C. ¥ PzR+Q+5

D¥PxzQ-R+3

E ¥ RzS+Q-5§

Question Number : 140
Correct: 2 Wrong : 1

A A+B W AT 2 P B TTTHATA S A -B ST Aded & T B @1 UaiT A &, A x B &7 Adodl & 797 B @7 1S A &, 3T A ~B @7 Adelg
ETFB BT ETAR, 7

TEEET # | T Aqea £ ' S @TATATR 87
Options :

A ®Rz5-Q+58

B. ®* PzQ+R=+5

C. ¥ PzR+Q~+5

D¥YPzQ-RE+5§

E ¥ RzS+Q-8§

Question Number : 141
Correct: 2 Wrong : 1

In a family of 6 members, A is the grandson of E who is the father of B. C 15 F's mother and wife of B, If B 15 the son of D, how
15 D related to F?

Options :

A # Paternal grandfather
B. ¥ Paternal grandmother
C. % Maternal grandfather



E. % MNaternal aunt .
www.upscstudymaterials.com

Question Number : 141
Correct : 2 Wrong : 1

HEET FUF O H, EFTMF A ATB FTTOGTE C, F ST 07 oW B T 0RT 51 AT D FTaeTB & a1 D ST F & 27 TFa=el 27
Options :

A %

B. ¥ Frar

C.® qmr

D. % A=t

E * fmer

Question Number : 142
Correct: 2 Wrong : 1

Among six friends, B, C, D and F are from the nural area. &, B, D and F are players. &, C, D and E are students.
Who is a student from the nual area but is not a player”?

Options :
A ®E
B.*B
c ¥
D.*D
E *F

Question Number : 142
Correct : 2 Wrong : 1

FEaEai d /B, C,D 3R F UM &= €81 A, B, D 3T F a1 81 A, C, D 3T E 9713 81 TTHIT &= € @1 819 &, #iee
Options :
] E

A
B.*B
c.¥C
D.*D
E #F

Question Number : 143
Correct: 2 Wrong : 1

We hawve the following information regarding the scores of seven students A B, C, D, E, F and G in their school examinations.
a. & always scores more than G who always scores more than F.

b. In any exanunation, if E scores the highest, C scores the least or if I scores the lughest either B or F scores the least.

c. Mo two students get equal scores.

If in an examination, F and D are ranked 5th and 6th respectively, which of the following can be true?
Options :

. ) 1 .

A * Eis ranked 2™ or 3
. . ncl ~th

B. * Cisranked 2 or 5

C % A s ranied 1 or 4th www.upscstudymaterials.com
. £ila L



@ - qth o th .
D % Cisranked 4 or @ www.upscstudymaterials.com

E ¥ B is ranked 31ﬂ or 4th

Question Number : 143
Correct : 2 Wrong : 1

AR U 7 T A, B, C, D, E, F 3T G & el 1 Wiremait § U 271 & o # Tgie g ST g
3. AGHST G T qoiAT H SATEF 27 UTH FXaT & A1 F D1 i1 | gHT SATerR 205 0TH Peav gl

o, Tepet T OeteT §, 9T E S5aA 219 UTH @edT 5, 91 C Fere @H 376 079 ed T & 37 3 D IgdW 306 ITF @47 & The AT af B arF
HeIe TH 376 UTH Fd ol

T, Tergt 9T ST o1l @1 SRTeY 370 g1 Hed gl
ST U ULy H, F 3T D @ @Asn Sar 3T 697 ¥ Tear ST &, 91 FEiead # € @9 | a9 9 5 9@ 1 27

Options :

A ®EF Tt R mre
B. % gat 2T ar 3Vt e 2
c. % agr1MaraT o ey g
D. % cara T ar  tw R
EYBar3 qatw R mne

Question Number : 144
Correct : 2 Wrong : 1

Five pairs of words are given belgwnoub of wilt ol tiewariy i foucpairabeme cammnn celaiionsiip. Which is the odd pair out?
Options :

A ¥ Doctor - Medicine

B. # School : Class

C. * House: Room

D. * Pencil : Lead

E. * Boolk: Chapter

Question Number : 144
Correct: 2 Wrong: 1

Trer sTeat & U Fie Tay T ¥ orEH § O s & Sedf # UF W g9 § 390 € ST AIS g GFee A5l ) @i 9 27
Options :

A ¥ =gy Bifwear

B. % woor - wa

C. ® uv T

D. ® e wi

E ® qead: aneaw

Question Number : 145

Correct : 2 Wrong : 1

Four letter clusters are given below out of which four are alike in some manner and one is different. Which is different from the
rest?

Options :

A

A % YURP www.upscstudymaterials.com



B. ¥ BEIN
C. ® FHKO
D. ¥ LORV
E % vQwm

www.upscstudymaterials.com

Question Number : 145
Correct: 2 Wrong : 1

Tt IR S1eRT & T 5w M0 B, S ¥ T g a0 B Ud AE § 31T U T 81 Wi AT e arent Rt @ 5 a7
Options :

A % YURP

B. ® BEIN

C. ¥ FHKO

D. ¥ LORV

E ¥ VQM

Question Number : 146
Correct : 2 Wrong : 1

Five fipures are given below, four of which are sinilar in a certain way and one is different. Which is different from the rest?
Options :

A

A B o
r
B
B k=3
-' LY
x’/ k‘
\, /
LY i
T R
g

E ¢

Question Number : 146
Correct : 2 Wrong : 1 www.upscstudymaterials.com



BICRICRCE RG] ﬁﬁﬁﬁaﬁwﬁﬁaﬁﬁﬁ?ﬁw%aﬁtwtﬁwa T 1 A7 oI AT § S 27

Onti www.upscstudymat s.com
ptions :
Y A
b % ot
e
r
B. ®
’ LY
LY
.f/ .‘}
\x /
\l—f}
g

E

Question Number : 147
Correct: 2 Wrong: 1

Five figures are given below, four of which are sunilar in a certain way and one is different. Which is different from the rest?
Options :

i

www.upscstudymaterials.com
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// o
D
)
D ®
\‘x
\
E % o

Question Number : 147
Correct: 2 Wrong : 1

= U eF fam 0 B, T € =R uw e 9 # W 8 3T U 349 3T g i |7 I aTent € 31T 57

Options :

'
-
f\ |
]
p % il £
o
g
|
>‘*-__f
//
—
)
D *
\\.
“
E ¥ o

Question Number : 148
Correct: 2 Wrong : 1

Five figures are given below, four of which are similar in a certain way and one is different. Which is different from the rest?

Options : .
www.upscstudymaterials.com
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l:H ".'..-. ".]
L ]

i J;/

AV u

=
S K
- = -~
.
. &1 =
e
D ® -
E %

Question Number : 148
Correct: 2 Wrong : 1

e U '©E om0 £, e € TR uw e Jiie ® 90 B 3T U 399 316 g @i |7 I aTent & ST 87
Options :

o %
l:H u‘."l'..]
. 1}
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L.

i
A i.r,-""’
o

Question Number : 149
Correct : 2 Wrong : 1

Y

E %

Ina city, the houses A, B, C, D, E, F and G are situated as under:
D is 5 lon to the West of F. C 15 5 lon to the East of & B is 1 lon to the West of & E 13 2 lom to the South of B, G 15 6 lan to the
East of E. & i5 3 lan to the South of D

Which three houses lie in a straight line?
Options :

A % CEG

B. ¥ ADE

C ¥ CFG

D. * BEF

E * CDF

Question Number : 149
Correct : 2 Wrong : 1

U MeT B, A, B, C, D, E, F 3T G ORI & Hfel & SgaN ceiedd ol =T &

Fahupaa dhi iR s M WD QI AG g 0 S Tl e C 81 A ol &t o | FrfT e B 31 B o i 2 frf  WE B E S gl o
6 TeRHT GO 0T G 81 A @ STEH 3 TR T gU Ov A R

T & A1 O U |l T H usd 87

Options :

A ¥ CEG

B. ¥ ADE

C. ¥ CFG

D. * BEF

E. * CDF

Question Number : 150
Correct : 2 Wrong : 1

Three boys, Mohan, Suresh and Sambeet and two girls Meena and Sabnam sit in a line. In how many ways can these three boys
and two girls sit, if boys are always to be at the corners and the girls will not be adjacent to sach other?

Options :

A ® g

B. ¥ 12
C. %3
D * 4
E * 18
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Question Number : 150
Correct: 2 Wrong : 1
T M ah, HigH, GO 3 Hield Ul 3f e hal HT 1T Te—T U 5f Uik H efdd g1 J1e M di gHIT BiA! H e3AT 51 3T
IS e U gt | THART 51 a8 @1 I o1 eisch 31T ST 712 [T SIelTT- ST fea ] Tt H & qed | &7

Options :

noo g

Ak
B ¥ 12

Co%® 3

www.upscstudymaterials.com

D * 4
E # 18
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